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[ECO729] Mean, Median and Mode are ______
None of the options

[ECO729] Inventory costs include _____
all of the options

[ECO729] There are two general forms of time-series models in statistics _____
multiplicative and additive model

[ECO729] I throw a die and get 1 naira if it is showing 1, and get 2 naira if it is showing 
2, and get 3 naira if it is showing 3, etc. What is the amount of money I can expect if I 
throw it 100 times?
I can expect to get 350 naira

[ECO729] For the Basic EOQ Model, the total annual inventory cost is minimized when 
the Economic Ordering Quantity (EOQ) takes the following value except one
Purchase Cost

[ECO729] The linear programming model for a transportation problem has constraints 
for supply at each ______ and _______ at each destination.
source / demand

[ECO729] Analysis of Variance (ANOVA) Ã¢â‚¬â€œ tries to determine whether or not 
the means of two sampled groups is statistically ______
significant or due to random chance.

[ECO729] The specific way in which a variable is measured in a particular study is 
called the _____
operational definition

[ECO729] NaÃƒÂ¯ve method is defined as the forecast for next period (period t+1) will 
be equal to this period's actual _____
demand (At).
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